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SN SR
HE: sARWA 23
Sel S YRET CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O3=HHESE (M ME2) 21,250,000 21,250
03 Al Y| 23,400 36,000 A 12,600
O3=sZ¥& =Xt 29 (0l A=) 23,400,000 23,400
307 2Iz2t0| & 96,000 120,000 A 24,000
02 DI AAIRE E X 96,000 120,000 A 24,000
Ok sHg3ods 24 435 96,000,000 96,000
308 XHXIGHH SO0l & 85,680 100,800 A 15,120
01 AIKISHEMNEXZ 85,680 100,800 A 15,120
OANZ s0g3loA X299 X (0aE2)
85,680,000 85,680
403 XX SHHS K20 & 1,130,000 2,100,000 A 970,000
01 XIS A=Z2E X 1,130,000 2,100,000 A 970,000
EdE Noss IMHAANY LIS (014
&2 1,130,000,000 1,130,000
sSEEX &4 1,620,060 1,578,920 41,140
= 487,900
& 1,132,160
SE02 FL8 Z2SAIE K& 300,000 450,000 A 150,000
403 XX SHHS K20 & 300,000 450,000 A 150,000
01 XIS AE2E X 300,000 450,000 A 150,000
OsE0t2 2s24AE E 300,000,000 300,000
sE Z2S0I0ls=S4HEH 29 X 70,070 35,620 34,450
= 53,900
& 16,170
308 XX EHH SO0l & 70,070 35,620 34,450
= 53,900
& 16,170
01 AIXISHHENEXZ 70,070 35,620 34,450
OsZE 200|284 249 70,070,000 70,070
= 53,900
== 16,170
M B=sE 43 XS 331,800 331,800 0
= 294,000
o= 37,800
308 AMXISHMSOIA 331,800 331,800 0
= 294,000
= 37,800
01 AIXSHMENEXZ 331,800 331,800 0
OMIE=E 4835 K& 331,800,000 331,800
= 294,000
& 37,800
S MIIE s AE2E ey =X 160,000 221,000 A 61,000
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308 X EHSOIA 160,000 160,000 0
01 HIXNHHBHNEELES 160,000 160,000 0
OZFEE MaE & 822 ANEAZ
160,000,000 160,000
SENE sS4 =20 N&E 312,300 450,000 A 137,700
308 MtXIEHSOIH 312,300 450,000 A 137,700
01 HXNHHBHELS 312,300 450,000 A 137,700
O=s&0tg 2324 T<0 X& 312,300,000 312,300
dEsgel o= sotel s4 XA 15,300 30,000 A 14,700
308 XX EH SOl A 15,300 30,000 A 14,700
01 HIXNHHNBNEES 15,300 30,000 A 14,700
OFdsge a7 .- =X sotel =4 XFAZ
(ol &t = 2) 15,300,000 15,300
MB=se HE=sZE K& 158,000 0 158,000
= 140,000
< 18,000
308 A EHHSOIA 158,000 0 158,000
= 140,000
< 18,000
01 HXNHHNBHELS 158,000 0 158,000
O MIBRsY HE=sZE K& 158,000, 000 158,000
= 140,000
< 18,000
dAsAHsgel X3 62,590 0 62,590
201 L4l 62,590 0 62,590
01 At 22l 6,970 0 6,970
Ot RZ=A=e HEEA HEZ XA (0
AHE ) 6,970,000 6,970
03 &Ar2 I 55,620 0 55,620
Ot RZ=A=e HEAR HEZ XA (0
AHE ) 55,620,000 55,620
dEsHge ™ X 210,000 0 210,000
308 XX EHHSOIA 210,000 0 210,000
01 HXNHHNBMNEES 210,000 0 210,000
OFYs0ge H2™ XA 210,000, 000 210,000
sgetdisd ¥ 2N 22 1,135,743 1,142,339 A 6,596
= 121,091
< 1,014,652
SHEEX B2 738,779 738,779 0
308 XXM SO0l A 738,779 738,779 0
01 IXNHHBNEES 738,779 738,779 0




SN SR
HE: sARWA 23
Sl SYUCHSE L IR 23 CERED
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
O=g832X 2=sK& 738,779,000 738,779
Flsns XA 61,364 90, 360 A 28,996
= 34,091
< 27,273
307 21201 A 61,364 90, 360 A 28,996
= 34,091
< 27,273
02 QIAHFAANGFEX 61,364 90, 360 A 28,996
O=lsgaddge u=s 61,364,000 61,364
= 34,091
< 27,273
SHTIHLE (ALEEXRH) 108,600 43,200 65,400
= 87,000
< 21,600
307 21201 A 33,000 0 33,000
= 24,000
< 9,000
02 It S AIHE L 33,000 0 33,000
OFUE=s 2040 HUEX JESHLE(2LHI)
6,000,000 6,000
= 3,000
< 3,000
OFdA= 2040 HSEEX ASALE (HLEH])
27,000,000 27,000
= 21,000
< 6,000
308 XtXIEHH SOl A 75,600 43,200 32,400
= 63,000
< 12,600
01 HXNHHNBHELS 75,600 43,200 32,400
O=sgzgz&8 XA 75,600,000 75,600
= 63,000
< 12,600
sHoUHT 4 227,000 270,000 A 43,000
307 glz2tol & 227,000 270,000 A 43,000
02 IZtE M AHE X 227,000 270,000 A 43,000
O=goltd 4K (0at=2) 187,000,000 187,000
Otlgelsg et S8X 2 (ASIEH)
40,000,000 40,000
Hesge 4 6,141,500 4,788,000 1,353,500
HEs0ge d=H<*d X 5,700,000 4,335,000 1,365,000
308 XXM SO A 5,700,000 4,335,000 1,365,000
01 IXNHHBNEES 5,700,000 4,335,000 1,365,000




PN LAY
HE: sARWA 23
el dsge |4 (Sl & &)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OW&=0ge #HEFNE(HIRHM) X
5,700,000, 000 5,700,000
Hedsgeldy 29 424,000 360,000 64,000
308 A EHHSOIA 396,000 360,000 36,000
01 HXNHHBHELS 396,000 360,000 36,000
O&dsgeldye 29 XA 396,000,000 396,000
403 MtXISHHE =01 & 28,000 0 28,000
01 X SHMA2EE 28,000 0 28,000
O&=sgel dH =4 18,000, 000 18,000
OBFHE=Zoldy 2L A
10,000, 000 10,000
Hdsgel dz 2t 17,500 33,000 A 15,500
201 Let24E] 17,500 18,000 A 500
01 At 22l 8,500 9,000 A 500
O0d=gol T (oarzE) 8,500,000 8,500
03 A2 Z Hl 9,000 9,000 0
O&=gol ZTE(uazE) 9,000,000 9,000
sA2d & 2He2d 862,211 618,948 243,263
J| 836,711
< 25,500
skzel ¥ sEXNFMNY S FHAMYE 54 25,500 69,000 A 43,500
201 Let24E] 8,500 9,000 A 500
01 At 22l 8,500 9,000 A 500
OsXEd & 222 (0lat=E2) 8,500,000 8,500
202 044l 17,000 18,000 A 1,000
01 S LHOIYI 17,000 18,000 A 1,000
OsEX YL (o &= 2) 17,000,000 17,000
SKOISAE ZAHR el X& 836,711 549,948 286,763
J| 836,711
308 A EHHSOIA 836,711 549,948 286,763
J| 836,711
01 HXNHHBHELS 836,711 549,948 286,763
OsXolg2el X 836,711,000 836,711
J| 836,711
SEXN SN 46,971,546 44,850,000 2,121,546
= 36,659,266
=) 10,312,280
b <= JH ¢ (XI XEAI) 35,500,000 35,000,000 500,000
= 35,500,000
402 RI2EX=20| M 35,000,000 35,000,000 0
= 35,000,000
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Sl SEXNY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
02 CIZEXIEAIS EX (0| XM THL) 35,000,000 35,000,000 0
OHZ=E ALY (BI12V 82 X) 35,000,000, 000 35,000,000
= 35,000,000
403 XX SRS K20| & 500,000 0 500,000
= 500,000
01 MXHHXE2BE =X 500,000 0 500,000
Ol & A (KIXHAI) 500,000,000 500,000
= 500,000
HE2EE sdas SEAY 42,500 50,000 ANT7,500
403 XX SHHMS X201 A 42,500 50,000 ANT7,500
01 XS A2E X 42,500 50,000 AT7,500
QU S22 SHZLSHBAIY (A=)
42,500,000 42,500
SHI|BHAH(HPE B X)) (HEAY) 3,773,680 3,014,000 759,680
403 XX SRS K20 & 3,773,680 3,014,000 759,680
01 AXESHIE2E X 3,773,680 3,014,000 759,680
O=&axde A 3,773,680,000 3,773,680
SHI|BHAH (=ClAIEHE L) (HEAY) 3,439,600 3,106,000 333,600
403 XX SHHS K20 & 3,439,600 3,106,000 333,600
01 XIS A=2E X 3,439,600 3,106,000 333,600
OAT F=2lAlE MHES 3,439,600,000 3,439,600
SHIBHEH (AFZH IS ) (HEALS) 2,080,000 1,440,000 640,000
403 XX SHHS K20 & 2,080,000 1,440,000 640,000
01 XIS A=Z2E X 2,080,000 1,440,000 640,000
OARE =& 2,080,000,000 2,080,000
SAHD|BHAEH| (DI BHAEH| ) (HEALY) 559,000 1,290,000 A 731,000
403 XX SHHS K20 & 559,000 1,290,000 A 731,000
01 XIS A=2E X 559,000 1,290,000 A 731,000
Ogo|et HHIAIY 559,000,000 559,000
AL SENEAE 417,500 0 417,500
403 XX S M S K201 & 417,500 0 417,500
01 XS A2E X 417,500 0 417,500
OARE & NEAY 417,500,000 417,500
= XHGOHCH 2 A 1,159,266 0 1,159,266
= 1,159,266
403 XX SHHS K20 & 1,159,266 0 1,159,266
= 1,159,266
01 XIS A2E X 1,159,266 0 1,159,266
O= Mol CHEEH| (KT XHAI) 1,159, 266,000 1,159,266
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| | = 7,759,266
SSIIBLAIE &S 15,307,600 12,310,000 2,997,600
= 13,240,000
< 2,067,600
SN S22 S EHIHE = 6,942,000 5,000,000 1,942,000
= 6,942,000
402 2I2H X201 M 6,942,000 5,000,000 1,942,000
= 6,942,000
02 QI 2 A EZ (01X TH ) 6,942,000 5,000,000 1,942,000
O=Jt2eled XN HE= 6,942,000, 000 6,942,000
= 6,942,000
SN2l YERMMES(AZXE) 1,690,600 910,000 780,600
= 1,498,000
< 192,600
403 UtXISHH S =0l & 1,690,600 910,000 780,600
= 1,498,000
< 192,600
01 XM A2E X 1,690,600 910,000 780,600
OXgzeled=x=H HE=+ 1,690,600, 000 1,690,600
= 1,498,000
< 192,600
StUHHI SO 5,400,000 5,400,000 0
= 4,800,000
< 600,000
403 XIS E X201 & 5,400,000 5,400,000 0
= 4,800,000
< 600,000
01 X SHHN2E = 5,400,000 5,400,000 0
Oetg il 2 5,400,000, 000 5,400,000
= 4,800,000
< 600,000
rs== sgEsHeg 1,275,000 1,000,000 275,000
403 MHXSHHSA=0l& 1,275,000 1,000,000 275,000
01 X ESHMA=2E L 1,275,000 1,000,000 275,000
OJNE=8 =g+ HE(uazEd)
1,275,000, 000 1,275,000
HE2LAZH (sZEF ) 73,321 77,064 A3,743
Jl2Zt (=& M) 73,321 77,064 A3,743
22t (=g &) 73,321 77,064 A3,743
201 et 32,300 34,200 A 1,900
01 At 22l I 32,300 34,200 21,900
OsSHMARFX (0 &EY) 32,300,000 32,300
202 Odl 31,331 33,174 A 1,843
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